=2 INP Examples.

| 5 v

et 4o = x*+c ke a one-parameter fum f/y of soluhons
b tho [t nodor DE y‘+ 2xy*= 0, And a soludion of
Ahe lstarda INP c.onsisﬁﬂs of Hhis DE and o 3«'@.& Le.

INTIEALY 2.y(-2)= fo
LYzl = b \1{*2) Bk ommal
2o abie 2. denkie
C+d =3 ctd =2
| o =] c=-2
| So \/(K) ~ 5000 | So Y1) = S :
Yl X*-2Z

L&+ 7((‘(:) = c.,cos’f *f‘C-;_S;n‘& bo a%e—wmeffr 'Pam :“\/ :D‘('
zelubions of x'+X =0, Bnd o pachculoe soluhon using
e given TC.

B.XW ==l ¥ (o) =3 _ 4x(Bl=n  x(F)=|

. K(o) =, Cos(o) +¢,8in (6) = ] | x(%)= c.Cos(z.)-\-c,,sm(%)-'-O
CoEa ¢, (o) ¢, =0 =>¢,%0

- X(H) = —cost +cy sint &) =c,cost

LX) =sint £ ¢, cost x(t) = =¢ sint

-~ ¥(o)=sinlo) +¢p coslo) =8 X (E) =~ sin(%2) =1
Goai | ozl =>c, ==

 X(H= —cost +Beint X(t)z=cock



;D;aJrewmine.i;&_las{;&c;ﬁmatQQS‘f' oo o lutHene

ot H&g&ﬂmtf ODE .

%5.)(}1' =2y, y0)20

e

ax. %

Nete VXS s o solution since .
J LHs: oo - (:j-ri\!iod S.c_:_(u-’\"\ﬂ'nS
| Ribet o

A\Sn \tf'-':x?' 1S O 5o[u:Hm sincd

a L.\-\S:'LIJ"-‘-SK"

RHs: 3\,;"3 = a(xﬂ%’ = 2




Delecming o cegian of tha W -plne for tha given DE
wsould hee a dnig e soludion whose, qroph passes
‘Hnmu.ﬁ‘\ i Poin"‘*(xa,\/g,) in A 85 (.
T dy =dxy = £05y)

A%

X cont om [0,00)

Y . cont on T,a,oo),

9&(7\;}‘) = _C)&_ 7 y‘(.bﬂ'f' on [OJGD)
SN 20y vt cont on (0,00).

! Restm where ®Z 0o
Y7o,

8 CL(, = _LL_ = “L(‘k;\/)
dx  Jay?

X cont QN.D;\, wha e «

} Y cornt 2oy whare excpt y=-|
L 9flxy) = (:4-\’,3)(#)5 = x"(f‘-z—'}/a‘l'

Iy (H-\/?’Jl
= _‘_iﬁf_y_% A cant ey wohare
(|+y3)}' Y cortt (=o0,=1) U(-1,00).

H R%tm \-Ol-\a—r;-ﬂg X 1S any waha re

=00 ‘-\/<-l Q¢ -!‘-y & 00



